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FIRST PART

CHILD DEVELOPMENT AND

PEDAGOGY

Who is the best motivator at schoo] ?
(A) The class teacher
(B) The head master
(C)  The class fellows

(D) The subject teacher

The most important factor influencing
performance of the children related to
school is :

(A)  Development curriculum
(B) Increase in the salary of the teachers
(C) Continuous evaluation

(D)  Audio-Visual Aids

A teacher must know the individual
difference of student :

(A) for improvement in Education
(B) for group teaching
I (©) to know reality of the student

(D) to build student as per present
requirement

A faerTy we forer ooy

foremersy # sfirier ¥
(A) wer fa

(B) WuW sHemhe

(C) TRt

(D) fawa firemst

Wﬁvw%%ﬁﬁmﬁiﬁ%wﬁﬁaﬁa‘f
F T TETF ¢ -

(A) Foran % gum 3
(B) wmfess foermr | feryy

(©) ﬁmfﬁu‘f%ammmaﬁmﬂ%
o

(D) faenfifai = drmfrs HEATTHT %
STIEY 7 Weh

:
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Which one of the f
(or not properly ass
(A) Frobel - Play v
(B) Maria Montess

(D) Gandhiji - Soi

A child has his men

owing pairs is odd
rated) ?

. §
ri - Divergent
thinking

(C) Keller - Co—o;Tative learning

d hands

al age 15 years and

chronological age 1P| years, what will be

his 1.Q. ?
(A) 105
(B) 125
(© 80
(D) 150

Evaluationisa conqmuous process, which

involves :
(A)
(B) Curriculum
(C) Teaching objs
(D)

Learner

o

All of the aboy

rtives

Development of 1

oral values among

students is very imjportant. What would

you do to develop
(A)

Encourage
works

e same ?

oral value related

(B) Organize Le
(©)

values

(D)

ures

Display stogfies based on moral

Present yourgelf as a role model

4,

fr § @ form Sieh o Ot g ey 7T € 2

(A) HoT - Ga-Ed H
(B) ftan wiewd - e W

(C) R - Herd® e
(D) ettt -~ wgfe &

T el H AATEE o 15 99 § i
mﬁhmuaﬁ%mmﬁmwz

(A) 105
(B) 125
(C) 80
(D) 150

g:

(A) HrE e
(B) TTSIHA
() fagm & €A
(D) Soe gt

feranfefl ¥ e gedl &1 fara e
B &1 39 3 T 3 ferd) @ S = 2

(a) Afew qoar ¥ Fefud w7l g0
ERIECRE]

(B) SATEAT 1 A

(C) feren edi W et e oh eE

(D) TE &1 e F T F HEgd FA

Set - A
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8. One of the following statement ig Correct, 8.  fmyy 8 Wi wes 1 =4 Fifong

identify jt :

(A) A scholar in his/her subject need (A) = fagm 9 forey om a9y 3t
not prepare and go to ghe class T ST B sty T #

(B) Preparation for the class g not (B) 3mwEt ayex % fory SHIvgH
nNeeded for well experienced ¢ fF 3 FETH ST § e o Eadl
teachers

(©) Irrespective of experience or ©) ey Haq awmﬁmwﬁm
scholarship, , teacher needs o 4 fomr, HAATTE #1 & G
Prepare and enter the class every FEH S G 94 G = STEavgeha
time gl

(D) A skilled teacher can manage (D) T 3@ ardmems famy AR ¥
classes even without Preparation H 1 =y Fe &)

9. The term ‘inclusive-education’ refersto: g AR forey & s &

(A)  Education of Children belong t, (A)  sTrIfer sfiy Ao ATl ety %
Scheduled Caste ang Scheduled S Y fira
Tribes

(B) Education of children witp (B) 3197 vy gy =t 1w ey fieg
disabilities along with norma] ones

(©)  Education in multigrade setting (C)  Fg=ife fammy [ foreqr

(D) Education of children from (D)  svHEns a=if T foren
minority groups

10.  “Learning disabjeg- children are mostly : 10, “gifipg forsherin’ sy difime e

(A) Aggressive (A) ST

(B) Organised (B) unfsg

(C) Consistent (©) Hm

(D)  Underachievers (D) =1 symfey gy

o SPACE FOR ROUGH WORK | v o % forlt s
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11. For efficient learnifg the learning task

should be :

(A)
(B)
©)

(D)

development of or

Rewarding
Interesting

Adjusted to| fhe learner level of
maturity

Lower than |the learners level of
maturity

, sense organs and

12. The development f body should be of

strengths. Howe

if possible it should

be the independent flevelopment of child’s
internal competengps. It’s teacher role to
teach the child how to live life.

This was said by -

(A)
(B)
©
(D)

Rousseau

Mahatma G]:dhi
RavindraNath Tagore

Frobel

13. Negative charactefistic of gifted child is :

(A)
(B)

Tendency tf be competitive

Risk taking fendency

114

12.

13.

et erfrmm ¥q erfomm-wE w1 @
=Mied -

(A) TR

(B) et

(C) stferoral S gfEea TR % STIET

(D) @ifereerst @1 SftTEeR WA

o =1 faere, S o, shedl qen ufeEi
1 faaTa @1 e =fed, SRl a% 6 €
STeT 1 At sael &1 W= fasmd
T AIEd | e Sl S HiEr e o
F T@l 81

SO HEA R

(A) w4

(B) rRTe el
(C) TEETE T
(D) W

gfer TR Serhi T AeRTere e ¥
(A) wiaeet v i wafd
(B) ShfEm 2 =1 wafa

(C) Achievement oriented (C) Suelfes 9@
(D) Sometimeg feagerness and do not (D) FHeofi-aft SEfian e e fga 4
pay class alention HHAT
4> ACE FOR ROUGH WORK / T T & fordl We
Set- A 0172/ EF-ST/ELG-E




14.  The measyre of learning difficulties and
deficiencies are determined by :

(A) Standardized tegt
(B) Intelligence test
(C) Diagnostic test
(D) Objective test

15.  Which among the following is net 5 type
of multiple intelligence ?

(A) Linguistic
(B) Spatial

(C) Interpersona]
(D) Analysis

16. Children whose menta] age is lower than
chronological age are called :

(A) Gifted

(B) Normal

©) Learning disableq
(D) Retarded children

17. Which one of the following is most
appropriate to develop higher order
cognitive skills ?

(A)  Lecture - Demonstration
(B) Role play

(€) Discussion session

(D) Inquiry learning

15.

16.

17,

2

‘aﬁza?ﬁnﬁ%ﬁm

8§

i 7 forme gy 4

BUgH # .
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18.

19,

20.

If a teacher fo
out of the class,

d children playing mud
o he should :

(A) Convince{the children and complete

his objectiye of lesson plan.

(B) Make a
memorable time.

new objectives and

(C) Let the dlifildren play as per their
interest.

(D) Teach disgipline among children.

Archimedes fojund the solution of his
he was in his bath tub.
under which step of
vity ?

problem whe
This will cor
process of cre

(A) Preparatipn
(B) Incubati
(C) Illuminatjon

(D) Verificatipn

“The rewards jplay a significant role in
learning” - is| fhe main characteristic of
which of the| following approaches to

learning ?
(A) Behaviogristic
(B) Cognitiyp
(C) Humanjgtic

(D) Scientifi¢

18.

19,

20,

a7 foreres o= 1 e § e g H Ser
WHT%.T'?F:

(A) W= H GEHAHL T TSI F
S B W R

(B) T U SRYAl % W T Y& I AR
- |

(C) =i i ek ¥ F STTER G < |

(D) == =i argeme faard |

TS A ST9AT I 1 B 96 915 Si™
5% 3TN TA-2a § o, T8 Yokl bl
i ¥ frg dram % st omar § 2

(A) i
(B) TEaA
(C) wErmH

(D) HEMEHd

“qrerR # st § weerg sffe 17
oz e T form erfrm SarTe 1 &2

(A) SRR
(B) HIAFRHS
(C) HHEETRl
(D) St

Set- A
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21.  Children learn new words for specific 2. o fafyne g & T efiy ME I
Objects mostly by e fafyy @ Sice o
(A) Imitation (A) 1Y
(B) C’onditioning Process (B) sreym
(©)  Insight (©)  sradfie o
(D) Trial and erroy (D) ¥ wd o
22, In objective type tests students - 22. IS yaR & o feremif .
(A)  Study the selected subject mater (4) =3 fav o HETT g
(B) Study thoroughly the content (B) gvi &g fayg T 1 3o g
matter
(©)  Feel less fatigye © +9 o= srpug g g
(D) Influence of hand writing ang (D) @ et s 9T & wonfer ey &
language
23.  Area of physical development is - 23.  Wifiw fammg FER
(A) Nervous system (A) EgHuEs
(B)  Growth of muscles (B)  wiefyrdi %7 afy
(©)  Endocrine glangs © T gy
(D) All above (D) S5 {aft
24. The thinking process involved in o4, | H Y oy T it seafy o 3
producing an idea or concept that is new TS i si CTYYE [a=R warfeg @, Fw
original and useful is termed as ; Eicig&
(A) Creativity (A) TR
(B) Innovation (B) Tamm
(©)  Intelligence ©) Sfgm
(D) Synectics (D) ey
s SPACE FOR ROUGH WORK ) 7 o & fordr v P
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25. Characteristics dffschool based Evaluation 25, 9renl nenfia qeaie st fedan & :
is:
(A) Setting sanfe task for all at the same (A) w & T H vt F o v & e
time. T HHTES |
(B) Teachers ggt little or no feedback. (B) faerw ¥ ford wfafsran &1 = =& |
(C) Teachin and learning (C) Taaora diEd § guR & il
improvemgnt is less. |
(D) All the abdve. (D) SdE |t
26. “Children cgnstruct their own 26, ‘'HIEF 39 FEERN % e fa:fFa g
understanding [through interaction with sroet T w1 wEw o i o ¥ e
their environghent,” who gave the oA faar .
statement ?
(A) Skinner (A) f&R
(B) Pavlov (B) HrerRAd
(C) Piaget () fr=
(D) Burt (D) &2
27. The result of legrning is : 27. aiferm &1 9fom ®
(A) Storing ngw knowledge in mind (A) Tfess d 76 99 1 q=
(B) Acquiring more information (B) siferh g T HTA
(C) Utility to fise old experiences () g TS T IHNT A ST
(D) Modificatjon and Development (D) wur e o
SPACE FOR ROUGH WORK / T &d % ford s
Set - A 10 0172/ EF-ST/ELG-E




28,

29,

30.

Who said -

“The differenceg among children may
best be accounted for by variations in

(A) Morse and Wingo
(B)  Garrison and others

(©) Crow ang Crow
(D) Skinner

The best Way to motivate a chilq to learn

is:

(A) To appeal to his/her sense of pride
and self respect

(B) To rechannel the motives he/ghe
already hasg

© To threaten him/her with failure
and punishment

(D) To tempt him/her with praise

One of the most important ways of
fostering problem solving on the part of
students js :

(A) To Stimulate the formation of
Critical attitude

(B) To emphasize pProblems that are
real to them

©) To Provide them witp formal
reésorﬁng techniques

(D) To refuse to give or to accept put
answers

28.

i B

30.

”W’ﬂlﬂﬁﬁﬁﬁﬁmﬁrﬁ%ﬁ@mﬁaﬁ
1 fafiray 81T T oo S ey
(A) 1R ug faiy

(B) TR 5 ey

(©) #Hug

(D) fapr
wmaﬁqrmm%gaaﬁr&ﬁamm
Ty e 3

§
|
§
i
!

T S 39F oy

G
4
|

(©) Sl g eh=flek =1 Wftreror 3

(D) mmﬁmﬁmmém
FA|

SPACE FOR ROUGH woRrk / T &1 F foray W
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fgdrdg v 35. ‘e S o e o

feget (A) i et

31. wferor FEd € (B) TeharH HTAI

(A) aferor sver fardieor i (C) FEH-sF FE

(®) ! (D) H=FrE

(C) HermEarEs =)

(D) ferdromn 3 fi H e
32. T @ FA-T Y fE T R F (A) = F T

S B (B) W= ¥ meA H

(A) TR S S T

(B) STeX W< | i il

© wﬁr

(D) gfrn Al |

37. #A-m -farm 1 fore €2

33. oo @ ford oy e sy En # 98 wEd € Ay (D

(A) sifudaned B )

(B) fadand i

© gerd

(D) =T D) )

‘T w1 EEE R 7

:
g
:

34, Tasar=es gdam

' (A) I
(A) T I Fref gE € e
(B) ST9 Siell fi] SFT Wel
© Wg%ma (C) or=HEd
(D) @St STy el &7 (D) FHURA

SPACE FOR ROUGH WORK / T wrd & fordl s
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39,

40.

41.

42,

mqﬁm%w%wmﬁq—m
;a)g 9t farny % e gy & g

A ()
(B) ()
€ G
D) (=)

"4 % fhay yor g2
(A) dig

(B) w:

© =

(D) e

(C) e Uy qTee-afe fire
(D) YA 3191 v fiyey

‘W'Wﬁmﬁmmw%?
(A) drg
(B) =

(©) sy
(D) i

43.

44,

45,

46.

‘ﬁ%’mrwmm:%?

‘#'ﬁwmwﬁﬁ‘rﬁa%?
(A) i
(B) #xm
(©) wmRm
(D) Ty

0172/EF-ST/ELG-E

13

Set - A



47. ‘mE R uga Tl |fE o § wge T 51 vapeifea’ e wfu-faede w0 €2
Fifera & | o fofan o1 eI 2
(A)
(A) Sonds fshan ol
+354
() fewd® fopan )
©) it ) e
(D) wg foram (B) A
48, @ F-m e ite w gee & e 52 er: T % e e E?
vrgaaz"m%: A)
(A) T o H ®
(B) g 3T
(€ =R
(C) 3@ 1 feras s
(D) =
(D) STTEed B |
49. ‘v e W ¥ e T fre A 9 R 53. <A ferd wedf # s Ha e
HTe i g & ? ' (A) <fam
(A) T YR (B) W
(B) 'L“f“l?ﬁﬁ (C) e G [
(C) STEA JAHI D) %
(D) EWIA I
54, TR SUR T AW S G T @ 2
50. FH-T1 A GIH SAHE HTe 8 2
(A) @ BT g
(B) @& el Il € | o) SN
(C) e TSR el 2 (C) FIF T
(D) Tl A TATHR 9E | (D) faa=r
IPACE FOR ROUGH WORK / T &rdl & foidl 7
Set - A 0172/ EF-ST/ELG-E




ma»‘nfa,-ss,ss,sﬁﬂ%rqﬁ-&m

56. w@m%'anﬁmmwmﬁ@aqﬁ
Fretfafiae i i L
% U T Yy 55, 56, 57 i
T g (A) it T g
(B) T SFEHe
I T Faw fr T U2 3 afirg
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Read the following passag

answer the questions gi

(Question 61-65 and 66-7() Certain words

while answering some q

Two years ago, entrep
a resident of Vikas Nagar 1

the incessant chirping

as Passer domesticus , are
with human habitation.
structures such as eaves

and behind electric metres.
these g_regaﬂ'-ous bird

cherr...cherr...cherr punc
they thrived on the ru
generated. But the last fe
a massive decline in the
birds cannot cope with
architecture, glass walls
scarce water sources, and
and bugs.

Seth

conservationists associa

approache

Birding Fair. They p1

sparrow nest box and feed

1 a

you locate them
gstions.

bneur Rakesh Seth,
Jaipur, noticed that
offf sparrows in his
d considerably. He
amiss , and soon

brown bird, once

i

{ walls of buildings
e all grew up with
their
ating our days, as

cheerful

-
o

vu

bbish that humans

decades have seen
{ population, as the
he changing urban
End steel surfaces,

isappearing worms

group of
d with the Indian
vided him with a
box, which he fixed

on an outside wall. As hesaw the birds taking

to the boxes cagerly, in the next two years, Seth
brought many more boxes. The birds came in
dozens, making the boxes their home and
breeding place“ Soon his garden and slowly
the entire neighbourhood had become full of
house sparrows.

The nesting box is not new. It's an idea
that conservationists have been using for some
years now. And it's amazing how just a small
wooden box and feeder can encourage a species
to start again. The Birding Fair activists have
so far supplied about 1,200 sparrow nest boxes
in Jaipur. And a recent citizens review found
that the drive had helped add a significant 8,000
sparrows to the environment. The boxes allow
two sparrows to mate inside undisturbed, and
when the eggs are hatched, the parents can go

- looking for feed while their eggs stay safe from

crows and other predators  Similar efforts
have been undertaken in other cities as well.
The boxes are also good for other birds that nest
in holes, like owls, myna and parakeets.
In fact, Rajasthani folk singer Smita Singh talks
of how she installed a bright purple box for
sparrows but ended up with a Myna instead,
for whom she had to enlarge the opening. Now
she plans to get a second box in brown for the
Sparrows.

The house sparrow figures in the Birds of
Conservation Concern Red List. The British
Trust for ornithology is at present running a
house sparrow appeal to raise funds to carry
out research and monitoring of the species to
better understand the pattern of decline.

SPACE FOR ROUGH WORK / T® = & fod -

Set - A
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According to noted environmentalist, and 61. Which of | the following Statements jg

the soy] behind the Indian Birding Faj; TRUE in fhe context of the passage ?
Programme, Harsh Vardhan, house sparroy,
Numbers have more than halved jn the last (A)  Sethl Hid not @PProach a group of
25 years across India, Ag 8Teen spaces in citjag Consprvationjsts associated with the
give way to concrete Constructions ang Indign Birding Fajr,
pbesticides cayge pollution, the Sparrow Rhag
found it hard to survive. (B) The nest boxeg could not be
The smajj scale industrialist, who has distriputed.

de d th b

ke N i Sp e (C) Housp Sparrows are intimately

“take over by insects” Rajasthan’s Chief Wilg g

J : . d n¢
life Warden Seconds this ang says, “We must an_h
such ag

and be

ted with human habitation

st in man-made structureg

caves or walls of buildings
und electric meters,

The nest boxes are typically distributed (D) - The ¥
during the breeding season that occurs twice 4 changi
year - from June ] August and from February walls
to March - April. Each clutch can yield three disap
to five chicks,

ds can Cope with the
urban architecture, glass
hd stee] Surfaces and

e4ting worms ang bugs,

attention of real estate builders, who are 62.  What is the me]:m'ng of the Phrase ‘take

gradually beginning to understang that over by insec

*Parrows and humang need to co-exist, and are Passage ?

- ag mentioned in the

incorporating more trees and gardens and Jegs (A4)  Insects car Spoil every thing,

Birding Fair in 2977

(B)  Insects wijj take the birds back.
(C) Insects can’f|live withoyt Sparrow,
(D) As Sparrow patg insects, and it i not

thore, insefs will be founded
everywhere n the house,

0172/EF-ST/ELG.E 17
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63.

64.

Which of the followinp is possibly the
most appropriate title fpr the passage ?

(A) Endangered Bird
(B) Sparrow and human’s need
(C) One sparrow makes a spring

(D) Sparrow boxes ghd humans

Which of the followjng statements is
FALSE in context to the passage ?

(A) The last few derades have seen a
massive increas¢ in the population
of birds.

distributed difing the breeding
season that oc¢

(B) The nest bOfs are typically

rs twice a year.

(C) House sparrowy umbers have more
than halved i

across India.

the last 25 years

Real estate buflders are gradually
understand that
sparrows and humans need to

(D)

beginning o

co-exist.

65!

66.

67.

We must strive to

(A) carry out research and monitoring
of the species to better understand
the parttern of decline

(B) finish these sparrows

(C) understand that sparrows and
humans need to co-exist
(D)

protect our associate species to
ensure our own survival

Choose the word which is most opposite
in meaning to the following word as used
in the passage :

ENLARCE

(A) Entire

(B) Diminish
(C) Accelerate
(D) Accept

Two years ago, entrepreneur Rakesh Seth,
a resident of Vikas nagar in Jaipur,
noticed that the incessant chirping of
sparrows in his neighbourhood has
lessened.

The underlined word ‘resident’ in the
above sentence is a :

(A)
(B) Pronoun
(C) Adjective
(D) Adverb

Noun

Set- A
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68,

69,

70,

‘The nest boxes are typically distributed
uring the breeding Season that oceyrg
twice a yegy,

The abgye Sentence jg -
(A) a simple Sentence
(B)
©

(D) a conditiong] Sentence

a compound Sentence

a compley sentence
p

‘Seth Approached 4
Conservationijss -

8roup of

been approached by Seth,

(B) A group of Conservationijgtg was
approached by Seth,
C)  Seth was approached by , oup of
pPp Y a group

Conservationijg ts.

A group of Conservationists is
approached by Seth.

(A) Companionable
(B)

(©)  Speciar
(D) Attached

Introvert

Direction for erstion Numbers 77 . 75.

Read the follo
Answer the quest

71.

ing Poem carefully ang
s given below :

ROGs
Frogs sit morg solid

Than anything! sits, [, mid-leap they are
Parachytisys falling

In a free fa1 -
With arms acrg
Heads high,
I'love frogs thadsit
Like Buddha, f}lt fall withoyt
Parachutes, that|die

Like Italian, tenogs,
Above a), | love
Pursued in water,

€y die on roads

S their chests and

vl

.

em becayge
they never
Panic gq much thg they faj]
To make stylish tr ngles

With their ballet ¢

Legs.

ncer’s

Choose the word which g most nearly
Opposite in Meaning o .

19

Fall
(A) ascent
(B) drop
Q)  autumnp
(D) decreage
T & % ot wrg il
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72:

73,

74.

In the poem frogg have been compared
to :

(A) Parachutists

(B) Ballet dancep

=1
W

(C) Buddha

(D) All of the abgve

Out of the alterndtive given choose the
one which can be sfibstituted for Stylish in

the poem :
(A) elegant
(B) taste
(C) wondertul

(D) amazing

The poet loves the frogs the most when
they are :

(A) in water

75‘

76.

77.

According to the poet the two comic ways
that the frogs die are :

(i) On roads with arms across their
chests and heads high

(i) Like Buddha

(iii) Like the Indian tenors
(iv) Like stylish dancers
(A) (i) and (i

(B) (i) and (i)

(© () and ()

(D) (i) and (iii)

Fluency disorders includes :

(Choose the most appropriate answer)
(A) Voice

(B) Pitch

(C) Sluttering

(D) Voice, Pitch and Sluttering

Exchange of ideas between two or more

persons is :

(A) Understanding

(B) panic
(B) Telling
(C) sit (C) Communication
(D) fall (D) Listening
lSPACE FOR ROUGH WORK / T Wt & fora s
Set - A 0172/EF-ST/ELG-E




78.  Choose the correct answer for the Strategy g A group df words that makeg a complete
You follow to understand ang answer an Sense or fgiyeg Complete Meaning jg
unseen passage called
(A) Scan the entire text (Choose thp Most appropriate answer)

(B)  Focus on the Questiong (4)  Clausp
B) p
(C)  Find the main idea of the Passage ®) e
(D) ’ (@) Principal Clause
D) All the above

(D) Senteng

79. The ‘gap’ developed between ‘teaching’
and 'Ieaming‘ ca

n be best filjeq by 82.

Dun’ng an ora
Stage where
aims of yoyy p

(A) Use of Multi-Megja

(B)  Text book reading

(A) Backgroy
(©) Remedia] teaching

(©) Conclusiog
(D) None of the aboye

(D)

Question 56

tion method of teachj
is also called -

(A) Modern Method
(B)  Classicaj Method
(©)  Naturaj Method

(D) Oral Method

(B) Introducti},

Presentation which is the

u tell the audience, the
[€sentation ?

hid

n

Ssion

ation what Matters

21
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84. Which of the following is not a rule of 88. An example of a possible phonological
language ? processing disorder is :
A) Phonol ‘
( ) OI'lO Ogy (A) Saying Hsin" fDr "Shin"
(B) Morphology
(C) Semantics (B) Saying “Papa” for father
(D) Formalism (C) Saying “felled” for “fell”
(D) Saying “wanted” for “want”
85. Deductive methgfl is a method of
teaching :
(Choose the most appropriate answer) e
89. The first objective of teaching English is .
(A) Spelling to develop :
(B) Grammar
(Choose the most appropriate answer)
(C) Poetry
(D) Prose (A) Listening skill
(B) Speaking skill
86. Evaluation of speaking consists of :
(C) Reading skill
(A) evaluation off pronunciation
(B) evaluation of intonation (D) Writing skill
(C) evaluation of stress
(D) All the aboyg
90. Multi-Media materials includes :
87. Which one is not pn articulator ? (A) Text
(A) Fuee (B) Animation
(B) Tongue
C) Images
(€) Lips 5 ;
(D) Teeth (D) All the above
SPACE FOR ROUGH WORK / % =T o fol 8
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FOURTH pART
(A) MATHEMATICS/SCIENCE

P

91. The driver of a car driving @ 34 kmph ¢ W% FR # T 36 .1, /5y 9 THR §
locates 4 bus40meterahead of him, After N Tora ® iy Th 59 9
20 second the bus is 6p meter behing. 40 e oy 3 20 Yoz R qY 3y
Thenthespeedofﬂlebusis: 60 TR gy 7y ?},a’rwﬁi#ﬁf%:
(A) 36 kmph (A) 36 fr f
(B) 20 m/sec. (B) 20+,
(©) 72 m/sec. ©) 724y
(D) 18 kmph (D) 18 f&aft, /iy
92. The g of : 92 : : +
. = = i = = T S
> Velde 1+xb“+xca I+xba+x‘a 1+ xa-b 4 b
1 1 : 1
Togt~b o+ 1+287C b 18 T4287C¢ 4 b e
equal to :
I_a xa
e R A | B
(4) :r"+xb+.1:° (4) xa+xb+xc
Ib xb
®) x +xb+x"" ®) xa+xb+xc
g x*
N P T Dl Gl e TN
© x‘i'+xb-!-xC © xa+xb+x‘:
(D) 1 (D) 1
SPACE FOR ROUGH WORK / % = % forg e s
172/EF-ST/ELG.E 23 Set - A




93. Three cubes of edpes 6 cm, 8 cm and 93 7w frr it A 64t 8 WA, SR
10 cm respectivgly are melted and 10 A, & = fosema w0 ek foen R
without any loss of jmetal moulded into a U % THEH & T Th T % MR H
single cube. The iddge of the new cube AT T ) T HA hT I e
will be :

(A) 25 cm (A) 253
(B) 12 em (B) 12 F.HI
(C) 20 cm (€) 20 @
(D) None of the|gbove (D) I H | HIE T

94. A student walks tp school at the rate of 94, THBMA25 o 5. /H'Zlﬂ 7ifa & Y@ St
2.5 kmph and reddhes 6 min. late. Next Eﬁ’[m%ﬁ@qﬁ?ﬁﬁémﬁﬁﬁ
day he increases I ?speed by 2 kmph and S d ) enre faa T s wifa 2 fRL /s
then reaches schagl 10 min. early. Then w1 & & A1 9 T 10 fire veat qéa Einl
the distance of thd school from his home % @ Y IEF e H gl ¥
is :

(A) 15 km (A) 15 fe.
(B) 3km ®) 3w
(C) 6km () 6w
(D) 12km (D) 12 fw.

95. Banking model qf Education is good for:  95. fotean 1 S e fraeh forg, 3T 87
(A) Creative Thinking (A) g faam
(B) Understanding of knowledge (B) ¥ & THFA
(C) Gaining of knowledge (C) FH W HH
(D) None of abgve (D) 9 # A

96. Classroom evalujtion is the best method  96. Ao H e qad st fafu forae
of : fau &?

(A) Testing kn¢wledge (A) TE TlE
(B) Testing crghtivity thinking (B) gSHIE HiE T
(C) Testing Rdceptivity of Lecture by (C) =merH 4 fepnfeldi =t fawa wwRIan
the stude T
(D) None of afove (D) I # HE T
CPACE FOR ROUGH WORK / T% Td & fordl s
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97.

98.

99,

Multiplication by a number jg not a :
(A)

(B)
©
(D)

Mathematica] pProcedure
Mathematica! concept
Mathematica] function

None of above

If the ratio of two items to be Compared is
very high so that area diagram is alsq not
Suitable then we can use the charts to
Compare them g -

(A) Bar diagram or Histogram
(B) Sphere of cube

(€) Frequency polygon

(D) None of the above

In the given figure, I|jm ang PlIn, then the
values of 9 S, p and r are -

(A)  80°, 80°, 100°, 100°
(B)  80°, 100°, 100°, 100
(©  80°, 100°, 100¢, gge
(D)  80°, 80°, 800 100

97.

98.

99,

T =1 7 & 2

(A) 80°, 80°, 1009
(B)  80°, 100°, 1008 100°
(©  80° 100°, 100 gg°
(D) 80, 80°, 80°, e

100°

o

SPACE FOR ROUGH WORK /

0172/ EE-ST/ELG.E
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100. Inthe given figure f QTLPR, £LTQR =40°
and ZSPR=30° (l:rm the values of x and

y are :

(A) 40° 70°

(B) 50°, 80°

(C) 35° 85°

(D) None of thepe

101. Inthe given figufe, if AB||CD, ZAPQ= 50°
and ZPRD =12/, then the values of x

and y are :

A P B,
50° ;

¥

"

A N
R N

(A) 50° 77°

(B) 40°, 67°

©y B

(D) None of these

100. fed 7 fax #, 9f QTLPR, ZTQR=40°

101.

qen ZSPR=30°, & x Ay 6 WA ¥ :

0°y 2
Q S R

(A) 40°, 70°
(B) 50°, 80°
(C) 35°,85°

(D) T | T

fed & o H, 3l AB, CD ¥ THMIT 2,
J/APQ=50° @ £PRD=127°, @ x d#l y
FHAT :

A P B,
507y

; - wr

£ 0 R D
(A) 50°, 77°
(B) 40°, 67°

(C) 55°, 72°
(D) T A BE T

Set- A
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102. In an eXamination, Ram obtained 209 102. % wiey § 1y STH F 20% atfirss forg
more than Ashok byt 10% less than R T 1 FH F Yrg ey g1 Ay
Rajesh. If the marks obtained by Ashok SF F W s 1080 ¥, & Ty %
is 1080. Then the Percentage markg BT 9T 3 FWWWWWZOOO
obtained by Rajesh if the full marks s € e,

2000 ;

(A) 72% (A) 72%

(B) 78.33% (B) 78.33%

© 77.77% (C) 77.774

(D) None of aboye (D) 39 I TE

103. Four circles of radjys 1 cmare placed in 103, wx ERARECD] o DRy & et} et
such a way on a plane Paper such that W' W@ q U THY oY R
each touches the other. Then the area of R 35 F oy B2 &7 1 G I
the space left in between the four circles
is
(A) 0.24 cm2 (A) 0.24 9.4
(B) 0.04 cm2 (B) 0.04 .12
(C) 0.84 cmm2 (C) 0.84 ¥
(D) None of the above (D) 9= 7 §1 g R

104. In a circle with radius 5 cm, a chord js 104. U 39 foget ﬁtzn 59, 8w wg Fg
drawn at the distance 3 cm from the q 397, 7 S [ & sy €, =y
centre, then the length of the chord is : g # .

(A) 4cm (A) 4970
(B) 6cm (B) 6@
(©) 8cm (C) 8aqH
(D)  None of the above (D) 3w @ Tlé &
SPACE FOR ROUGH WORK | w wrd 5 fordr sy i
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105.

106.

107.

The perimeter of a r¢ rtangular field is
What
possible area it may q?nta'm ?

(A)
(B)
©
(D)

2.5 kilometer. is the greatest

6250000 hectare
39.0625 hectaré
625 m?2

None of the aboye

If the numerical datd is represented by
pictures in which 1 ucket represents
1000 quintle milk theer

are needed to rept

milk ?

how many buckets
sent 6500 quintle

(A) 6 buckets
1
(B) 65 buckets

1
(©) SE buckets

(D) None of the abpve

In city A there liveq 3600 persons out of
which 2250 are adwjt, 1000 kids and 350
are aged persons then the corresponding

angles in the w-chaft are respectively :
(A) 180° 80° an
(B)

(C) 100°, 200° a

100°

225°, 100° 35°
60°

(D) None of the goove

105.

106.

107.

fordt TR & W uf 2.5 R gl
wﬁﬁﬁmﬁﬁmmfﬁﬂm?

6250000 BT
39,0625 BHM
625 T2

IR T A HE T

(A)
(B)
©
(D)

< deeE Htmel @ faEl g wefid faa
S e 1w 1000 fed g frefad
=t & A 6500 Fize gu i @i % T
foperat afeedl BT ST ST 2

(A) 6 d=

(B) 6-];: Bl

1
€y 53 ElGel

(D) IR H 8 HE T

feredt vret A T 3600 2T Ta ¥ fE | 2250
s, 1000 5= 3iR 350 g% & @ w-sE H
ﬁ%mmm;ﬁﬁ:

(A) 180°, 80° ST 100°
(B)
(©)

(D)

225°, 100° 3 35°
100°, 200° 3R 60°
SuiiEd o | HE TR

Set -

A
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108.

109.

110.

If A is the arithmetic mean and G the
geometric mean of two

(D)  None of the above

The cost of 4 apples and 5 mangoes is
¥ 35. The cost of an apple increases by
40% and the cost of a mango decreases
by 40%. If the ew cost of 4 apples and
5 mangoes is ¥ 29, then the tota] cost of
one apple and one mango is :

(A) %750

(B) T 10

) %4

(D) 28

A wall is 22.5 meter long, 10 meter high
and .33 meter thick. What will be the
number of bricks used to build this wall,
if each brick is 22 ecmx 15 cm x 9 cm ?

(A) 22500

(B) 25000

(©) 1000

(D) None of the above

108.

109,

110.

afe &
p@iq
& o fre o

7 UTHE arafyss qems
:TEWWAHQHWWWG
W-WW%:

(4)

(B) > A

(©)

~__._>A

A
(D) 7= A% 91 g7

> G

4 [ T97 5 3y r@?:ﬁ%:@a#:ﬁw
ﬁm%aﬂqﬁ; M % qo F 409 53
FH st 7 4 99 91 5 37 37
TAZ29% 1 @aamwmaﬂ%
T8

(A) %750
B 210
(C) T4
(D) %38

T fGomR 22,5 Hhag =, 10 Hey Ee
3MT 33 ay 1=t 21 =9 EEIE NS
22 84 x15 Ak g 0. # feah g
o} ?
(A) 22500
(B) 25000
() 1000

(D) 3w & § #§ 7

a

SPACE FOR ROUGH WORK / % %rf % forgy g
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111. In the frequency digfibution table if the 111 frefarfea ofFsl @ 3@ 0 - 10, 10 - 20
data is grouped it the intervals like (e | -t A | SEEa G T W
0 - 10, 10 - 20 etc., ten the frequency of 80 - 90 & 1 sgfa erl :
the class 80 - 90 will jbe :
19, 70, 75, 15, 0, 23,/ $9, 27, 89, 91, 22, 21, 19, 70, 75, 15, 0, 23, 59, 27, 89, 91, 22, 21,
22, 50, 89, 56, 70, 89, 65, 85, 12, 87, 72, 22, 50, 89, 56, 70, 89, 65, 85, 12, 87, 72,
82, 50, 87, 52, 89, 2B, 89, 30, 87, 81, 90, 82, 50, 87, 52, 89, 28, 89, 30, 87, 81, 90,
15, 80. 15, 80.
(A) 11 A 1
(B 13 (B) 13
(cy 12 € 12
(D) None of thes (D) o & T
112. If the data of the|following grouped.  112. afs frefafaa afigd arrgfa s 1 fafwsa
Frequency distribufion is to be converted gty e H sgen SE @ W35 i A
to discrete frequency distribution the Bt
frequency of the vdriable 35 will be :
Class Frequuency Cul RS
10-20 1 10 - 20 4
20 -30 10 20 - 30 10
30-40 4 30 - 40 4
40 - 50 3 40 - 50 3
50 - 60 8 50 - 60 8
(A) 4 (A) 4
B 7 (B) 7
€ 14 (C) 14
(D) None of thei above (D) SWHAH 18 el
JoACE FOR ROUGH WORK / & & % fodl T8
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113. In AABC, 24 - 90°, AD1BC, then which 113, ey 7% aaBo#d o4 90°, AD1BC,
of the following statement is not trye ? e g BT ot ey TR
A Al
b
B b C B D] 5
(A) BDxDC =AD2 (A) BDYDC< AD?
(B) AB2-Bp e (B) AB2HBD x pe
(© AC?=pcxpe (© AC?HDpCxpe
(D) AB24 Ac2_ BD? + pc2 (D) AB2}|ac2- BD? 4+ pc2
114. The present day world s under the 114 SIS &Y gy PR it wify EEIECEY
influence of Revolution by computers, 14 TR 5 i 3 g dm % e famm g
Yoot traces back o, abstract ideals in which SHAGE &2
of the areas of Mathematics 7
(A) Calculys (A) Fegery
(B)  Abstract Algebra (B) 31y g
(©) Boolean Algebra (©)  Feftr ifufor
(D) None of the above (D) S5 A g
115. Asum of money becomeg 4 timesatsimple 175 BB US A .- Y 10 77 3
interest in 10 years, then the rate of AT B S ?ﬁ’ﬂ?ﬁ!ﬂﬁi‘?%:
interest is -
(A) 10% (A) 10%
(B) 20% (B) 20%
(© 30% (C) 30%
(D) 40% (D) 40%
= SPACE FOR ROUGH WoRk v T & o el g
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116. If 25+ =17 116. afg 2¥+3V=17;
2x+2_3y+1=5’ 21’+2_3y+1=5'
then the values of x andl y are : *ahxamy?ﬁm%:
(A) x=2,y=3 (A) x=2, y=3
(B) x=-2,y=3 ®) x=-2,y=3
(C) x=3,y=2 (€ x=3,y=2
(D) x=-3,y=2 (D) x=-3y=2
117. 1f the p'" term of an arithmetic 117, afz fereh gEMRR J0ft % p e qamqA
progression (A.P.) is ,and the qh term is g p ¥, A Foft &1 m & UG E :
p, then the m™ term that series is equal
to:
(A) ptgtm (A) ptqtm
B p-arm (e pratan
© p+a-m © p+a-m
(D) None of the abgve (D) T A B} &g TR
118. The scale of the maf} is 20 km for1cm.  118. et <71 o1 e 20 feR T ¥ ford 1 0.
What area of thg country will be ?l FaRd T W W o9 &R ETE
represented on the map whose area is a3 o fge &Ewa 60,000 fm.H1.2
60,000 km? ? ??
(A) 150 cm? (A) 150 | .2
(B) 100 cm? (8) 100 A2
(C) 400 co® _ (©) 400 T2
(D) None of the apove (D) SHE R W T
119. For which of the fpllowing concept e 119, Frefufea # & f&w 400 ¥ forg sl
fusion of Arithmetjc and Geometry was e i 1 Hel STEEE o7
necessary ?
(A) Zero A) I3
(B) Rational Nufnbers (B) fE EE@
(C) [Irrational Ngmbers (©) SafcT HE
(D) Whole Numpers (D) U wE
S5 ACE FOR ROUGH WORK / T& &1 & fera wme
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120. The sum of term of the serjeg 120, Svj
1+9+24+46+75+ ........ to n terms i 149492444

equal to : Rl e:

(A) PO+ 1)En - 4
=4

P+754........ n TeY T ]

oy

(A) n(n + )(5n ~ 4)

n(n + 1)(3n - 4) n(n + M(3n - 4)

(B) e (B) ——fnoY

© n(n — 1)(7n + 4) © n(n - lj(?n +4)
6

(D) nn + 1)(7n — 4) (D) n(n + 1) n — 4)

6|

121. In which part of ghe flower does mejosis 121. 59 % forg ym STt foremmsir ey g7

take place ?

(A) Stamen (A) =9

(B)  Anther way (B) TR =} fuky

(C)  Pollen mothey cell (©) drem Wjﬁ?m q
(D) Pollen grain (D) e 375

122. An electrically heating cojl wag Placedin 135, F faga gifim ey FTUST B uw

a calorimetey containing 360 gm of water FE AT, oy 0°C R 360 7 et &
at10°C. The coj] consumes energy at the T gz FHA DI g form
Tate of 90 watts. The waer equivalent of S S9En F & FERT Fegy Foes
the calorimeter and the coil is 40 gm, The T S E 40 T ¥ S §
temperature of the watey after 10 minytes A T A9 10 fe B g 8

is (appox.) (=42 Joule/cal) (M) (j=42 (e

(A) 42.14°C (A) 42.14°C

(B) 32.14°C (B) 32.14°C

(C) 36. 14°C (©) 36.14°C

(D) 48°C | (D) | 48°C o f

SPACE FOR ROUGH WORK / 1% %1 3, o s
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123. A circular loop of| fadius a, area A and

resistance ‘R’ is pldded in a magnetic field
B =B, sinwt with i plane perpendicular

to the field. The vajue of induced current

123. @m@ﬁﬂﬂﬁﬁm&m.&w
i R 2, 1 T@ g &5 B =By sinwt
¥ sifrerean fioa &1 9 M@ o B

in the loop will be
(A) E{.?_I? sinwt (A) %‘11:— sinot
AB A By
(B) mR° cosof o coswt
() ABo @ b () ABo @ oeut
(D) - AI;S ® Joswt D) -~ AB{? 2 cosot
124. P type semicongictor is : 124. P YR 1 AGAD
(A) positively fharged. (A) TS AR B B
(B) made by [mixing of impurity of (B) i ¥ sEgfafT %t argfe foem
aluminiurh in germanium. R S B
(C) made by|mixing of impurity of ) fafestt ¥ wrawrd # afe fem
phosphorps in silicon. T T B
(D) made byl mixing of impurity of (D) fafemi 4 wra i agie e W
carbon i silicon. Eenikd
SPACE FOR ROUGH WORK / T d % o S e
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125. A short linear object of length b Jjes along

126.

the axis of a concaye mirror of focal length
f at a distance 4 from the pole of the
mirror. The size of the image js ;

@ (5]
® (L)
o (L
o L

(4) K +K,

2K;K,
e +K,

Kl + Kz
(©) KK,

(D) KK,

125,

126.

(3m*R) 2}

hvaﬁam%ﬁaﬁrmaﬁm%ga

b’ e 'iw@aﬁiﬁaﬁm’a@fﬂ%mfgﬂ
%@w%r a9 ftfera #} e

3
.
|
s
1
¥
E

2 KK,
L

K; + K,
(©) KK,

(D) KK,

SPACE FOR ROUGH WORK / T% #14 & fory i
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127. Dental formula of humrm is :

2123
A Gy
A 5123

2321
(B) 2321

301
© 32
D 1223
D) 123

Plastic is not relatefl to which of the
following :

128.

(A) Polymer Engindering.
(B) Bakelite.
©

D)

Plastic surgery

None of above

129. The process of trangferring files from a

Computer on theg Internet to user

Computer is called

(A) Downloading

5

(B)
©)
D)

Uploading
FTP

JPEG

127. AqA T KA YA

2123
&) 71
2321

(B) Z3a1
3221

© 3
g
@) 123

(C) TenfEe Heill |
(D) SR H HIE T |

129. mm@?ﬁgﬂzﬁz%wé@aﬁqgﬂaaw
3 Ziawt T i A ©

(A) SrETCIE
(B) STqenfEn
(C) THAL

(D) SHES

S?P.CE FOR ROUGH WORK / 1% & o e
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130. A particle oscillates along the v-axis

131.

according o €quation x= 5

sin ( 10t + gw) Where r is in meter and t

is in second, then velocity of particle at
t=0 second is :

@) 5 m/s

(B) —\E m/s

2
(©) [ém/s
g
0) gm/s

A a-particle enters in a magnetic field of

({\ 4
Strength 3:+2}) with velocity

(5x10% 7).
€Xperienced by the a-particle wil] be -

The magnetic force

(4) 32x 10-13 }

B) 16x 19133

©) sax 10"}

130. U

131.

Ff

r=0.05 sin

a

ot £ (R ~

31 fem

10t + ;’J THIHE & s7an

mmm%;aﬁxﬁaﬁmtmﬁ%
$H F0 T ooy t=0 VHvS W 71 77 119

BT :

1 Hieydug

® L ikl s

el

0172/EF-ST/ELG-E
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Which process does mLt exist in nitrogen

132. 132, “EEier = o -l gfean &l eit 7
cycle ?
(A) O,+N, M hitric oxide (A) O,+N, v, Tefeh aiines
(B) oxide of nitroge h— 120, nitric (B) EIEEER F SRS M0, rfee
acid A
(C) nitrates Rhizppium nitrogen Q) MEee TR qrzdee
(D). ammonia baderia_, pitrogen (D) smfE R dee
133. A species having 8 ejectrons in the third 133. T TS oy ey e H 8 R
shell is very reactife while the other srfa foren ot & Seifeh Al oieist %ﬂ'&ﬁi
species having 8 eled ons in the third shell e el A 8 TEHA ¥ areia ffiera & 7
is very inactive they fre : %,
(A) Kand Ar (A) KT A
(B) Kand Ca (B) K79iCa
R (D) Cl- @l Ar
; eI . : 1(n A :
134. A ray of light travdlling in the direction 134, TH Y& = foRro *(f + 3 f) feon #
: AL
1(a o A %
5(1’ +43 J') is jfcident on a plane aa%ngma&mmeﬁmﬁm@ﬁ%,
mirror. After refldction it travels along T ¥ A T8 %(? gy }‘] fewm
. 3 1 N N I
the direction. 51 -5 j] The angle of w3 ST ET F TS
incidence is :
(A) 30° (A) 30°
(B) 45° (B) 45°
(€ 60° (C) 60°
(D) 75° o) 75
$PACE FOR ROUGH WORK / T® i & fod e
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(A) -12
B) —15
© -18
(D) =19

136.

Correct ?
sin(r)
37°
sin(i)
Fig . 1
(A)  Speed of light in Medium B js thyee

(B)
(€

(D)

135. arpefy ¥ e I F u
379 F Arp%agmwfm—qmm
&2
A) -
B -4
© -1
@) —1

136. w1y 33 4 ﬁFTWRTWAf!’TﬁIWEQ
T Wezmi A B Ty (interface) gy
ST Benf & sy H9afiy TE fam
ST B it & aﬁ:amaqm‘mwmf
3ﬁ?3WETFf=? FIHH r 3 sin(i) Tl sin(r)
F mem g fesr-1 % ERUE T
(tan 37°=4/p) fem &

39

sin(r) /
37
e - 1

(A) msﬁsmﬁwmmAﬁ

TERT F | 1 3/4 %)
(B) 9 sriaf mﬁqﬁmm%r
(©) quAqua?fm‘—q,ﬁ Ay B %

AT ity &
(D) SHIHT 3% by
?mmarf%r&ma
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137. Which of the following dfsolves in water 137. Fwiifera # | HF W Fifer! % @ 7 I
in guard cells to inducg the opening of T STy Gl & feru e T # 2
stomata ?

(A) Glucose (A) TEIIS

(B) Fructose (B) TR

(C) Ribulose bi-phosphate © ﬁﬁm-aﬁ—ﬂ-ﬂm
(D) Potassium malate (D) drefmEH e

138. Berry - berry disease igfdue o deficiency ~ 138. - sy e A Eni

of :
(A) Vit-D (a) faafiE-D
(B) Vit-By @) farf - B,
(C) Vit-C ) farfm-C
(D) Vit-K (D) faarfma - K
139. Ozone is : 139. i< :
(A) acyclic mole: (A) TR T 3 ¥
(B) an allotrope of pxygen (B) ifeIST qGETF ©
(C) acompound off oxygen (C) SitesT =t s ¥
(D) is as stable as gxygen (D) SifeTST Foraen & e ®
140. If a liquid is heated I:veightlessness the 140, afg TF 7@ 1 @l i ¥ # ad fam
heat is transmitted fhrough : m%mwﬁmmaﬁwaﬁr%:
(A) conduction. (A) = E=
(B) convection. (B) HagT A
(C) radiation. (©) ffao A1
(D) neither beca e the liquid cannot be (D) Frdt TR ° T, ifE AETa
heated in wqghﬂesmess frorfa H 2 & 7 =@l fapan S Eehdn |
SHACE FOR ROUGH WORK / T® = & ol e o
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(A) In terference
(B) Polarization

©) Diffraction
(D) Reflection

142. Which of the foHowing IS not trye about

(A) It Produces 2 dimensiona] Image of
a section of 4 body.

B) It qeus X-rays o Make detajleq
Picture of Structure ingjde body.

(@) Projective geometry js ygeq in CT
Scanm'ng.

(D) None of above,

143. Whijch reaction is nog oxidation ? 143,
(A) Rusﬁng of Iron
(B) Burning of CO
(©) zn Teacts with Hey
(D) Extraction of sodium

144. Whicp Statement js Correct ? 144. F-g YT wey
(A) The hydrolysig of a neutral ga]¢ Sives (A) i
Tise to acig and bage, SR e g #
(B)  Acid and base reacts t, 8ive neutra] (B) sng T4 R
salt always,

(© Citric acid is ney tralised by, Caustic

S0da to give neyray salt. RESIEETe

&
(P)  Ammonjgm, Nifrate is an acjqjc salf, (D)  3ritfirry L ooty T
SPACE FOR RouGrp WORK / T B % fory wE
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145. Which is correct statemenf ? 145. FF-T o TE ®?

(A) Oxygen is always a nolecule. (A) e w19 ¥
(B) Air is always a mixfure. (B) A g R

(C) Any gas is always i:compound. © W& i AT §
(D) Element is always [¢n atom. (D) = T T T 8!

146. Heat is flowing throughya conductor of 146. lﬂﬁlﬁ *F Qﬁ'ﬁﬁiﬁﬁm x=0@xﬁlﬂ$
1engthlfromx==0tox==1. If its thermal o7 W ¢ uﬁzmwwﬁuqﬁmaqﬁi
resistance per unit length is uniform, TR RS AT 21, @ Frafafed &
which cof the following | raph is correct ? 3 TR A w8 WMH 3

T i}
(A) (A)
¥ X
T i 4
(B) \ j (B)
EEEe— x
T 'E\ T
i e R X —_—X
g X T
© | K (D) \
T X —— X
SPhCE FOR ROUGH WORK / 6 W o o e
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147. Two point charges Placed a¢ distance 147. & T3 amay PRl o 3 | T Ry W3 uw
N it exert a foree F on each oppey The T F 921 |3mifyg A e, = AR
Value of r 4¢ Which they, €Xperience a force LGl T forges T 16 g
4F, when placeq ina mediym of dielectric et o o iR . RUEE
constant 16 jg . TTH AT 4 | iy
r r
)5 (A
B 8: (B) 8y
r r
© 1 © =
(D) 4r (D) 4
148. A body of mass 0.25 kg i falling wigh o, 148. 0.25 fi5 7. SHAT, &Y % Fg
acceleration of 92m/s2 The Value of 9.2 Tt/ gepuz2 * fRo @ R iR gl
frictionalforceofajronthebodyis: aamm%m-%mﬁ%ww
: AAE:
(8=9.8 m/s2) (8=98 ﬁa/ﬁawg?;
(4) 0.15 Newtop, (4) 015 =
(B) 0.5 Newton (B) 0.25 T
©) 3.0 Newton, © 3.0 =5
(D) 45 Newton (D) 45 =
SPACE FOR ROUGH wogg / B F & oy ST
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149. Which of the fallowiipg disease is not

caused by virus ?

(A) Polio

(B) Aids

(©) Conjunctivitis

(D) Plague

150. If the ratio of the concentration of

electrons to that h{ holes in a semi

149, =78 ¥ aﬁﬂmmmﬂﬂﬁﬁm%?

z Frgane i ST o 21 g ST S
conductor 18 ga“ﬂ the ratio of drift 5
. I 21, 7a somHl ae B F HEO
velocity is thdn the ratio of their e e Wﬁff"
currents is :
A Z A :_7.
(A) 3 (A 3
7 7
® 3 ® 3
4 4
© % © 3
4 4
® 7 ®) 7
L PACE FOR ROUGH WORK / T T F fod - e
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1
(B) socrar SCIENCE (B) Yroifsre; e
1. Which of the following Vedic Literatyre . Frafsfigy A8 frg afew Hifew ¥ TRy
Contains the ‘Sanskarag’ right from ¥ e Y487 T % &R Ffea &
inception to crematiop ?
(A)  Upanishags (4)  Sufeg
(B) Grihya-Sutras (B) Tel-g3
(©)  Sraut-Sytrag © gy
(D) Dharma~Sutras (D) gy
92. From fc:ﬂowu-ng Which js the Important 92. frady RELIC B TSI Ty e "HE?
element of Provincialign, »
(A) One linguistic peyy (A)  wF yrpp
(B) Religioyg discrepancy (B) wufifs 3
(C) Single E€0graphical yni ©) w &
(D) None of aboye (D) 39%eq % T
93.  Din-juilap; Consists of elements Primarily g3 o & T e 5 of 3
from : &9y 9 )
(A)  Islam ang Hinduigp, (A)  T%my qep feg
(B)  Islam ang Christianit, (B)  w=my qep gt
(€)  Islam ang Sikkhism ©)  z%m a9y
(D) None of above (D)  I9tam ¥ Ea
94 Which of the fol]owmg Veda contains the . dfgg TFST oy ﬁtﬁﬁ’fﬁﬁﬁ ¥a fog T F
famoysg Gayatri Mantra 2 Henfer &
(4) Rigveda (4) ¥z
(B)  Samaveq, (B) uma=
© Yajurveds ©) I3z
(D) Atharvayed, (D) e
SPACE FOR RouGH WORK / % o & o s |
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95. At which of the place of the Indus Valley
Civilization a dockyard] connected to the
Gulf of Cambay has be

(A) Lothal
(B) Suktagender
(C) Amri
(D) Chahundaro

bn discovered ?

96. When did Shivaji hah his Chhatrapati
title ?

(A) 1680 AD
(B) 1674 AD
(C) 1665 AD
(D) 1657 AD

97. In a classroom teaéhing which of the

following concept| pvill suit discourse
method ?

(A) Community
(B) Culture

(C) Institution
(D) None of abov¢

98. British East India Company was
liquidated by whitch law ?

(A) Government [of India Act 1857
(B) Governmen! rof India Act 1858
(C) Governme of India Act 1859
(D) None of ab re

95.

96.

97.

98.

fﬁ%mﬁam%ﬁmﬁﬁaﬂﬁ%mw
ﬁwﬁm@ﬂg:g@wm@m
TR ?

(A) g
(B) HETIGL
(©) 3l
(D) ¥

ﬁﬁﬁﬁﬁ'@'ﬂqﬁﬂﬁtﬂfﬂﬁw?ﬁ?

(A) 1680 T8
(B) 1674 ¥
(©) 1665 $HT
(D) 1657 287

mﬁﬁraﬁm#ﬁmﬁmﬁaﬁaﬁﬁﬁﬁwﬁ
e o (Few) fafu & foe 3
Bt ?

(A) T

(B) Hef

(C) e

(D) R H HE T

ﬁfaméegi‘mw-—ﬁﬁfmwgm
g faman T 7

(A) TR TR SHHFE 1857
(B) WRd TR arfafem 1858
(C) wRd FTRT sfufd 1859
(D) S g ot Tl

Set- A 46
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(A) Shankaracharya
(B) Ramanujacharya
(@] Nimbarkacharya
(D) Vallabhacharya

(B) Chandra Gupta
(©) Samudra Gupta
(D) None of above

(A) Rock Edict of Kausamp;
(B) Maski Rock Edict

(©) Sarnath Pillar Egjct

(D) Bhabry Rock Edict

(A) Death of Mahaviz,
(B) Death of Buddha
(&) Alexandey’g invasjon
(D) Kalinga way

SPACE FOR ROugHy WORK

72/EF-ST/ELG.E 47
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102, Frerfofag & 8 wh-
g

3 gy

sﬁmnﬁaw%

/mmar%mw
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103. Where did the

104.

105.

106.

(©) Suharaward}

Akbar build his
Ibadatkhana ?

(A) Fatehpur Sikri
(B) Delhi
(©)
(D)

Agra

Lahore

Which of the following Sufi ‘Silsilah’ is
more popular in Ingt ?

(A) Chishti

(B) Qadiri

(D) Firdausi

In which of the
the Sufi ‘Rishi’ ‘S

(A)
(B)
()
D)

dliowing part of India
ilah’ exists ?

Bengal
Deccan
Kashmir

Punj ab

Who among the
partition of Bery

(A)
(B) Lord

following annulled the
al 7

Lord Harggnge

(C) Lord Cutgon

(D) Lord M ntbatten

105.

w%ﬁmﬁfﬁﬂﬁamﬂmﬁ@‘aﬁ’,
fgafaen’ 1 s ©?

(A) =T

(B) TG

(C) R

(D) demE

105.Wﬁwﬁﬁmﬁ%ﬁﬁaﬁﬁﬁm?

(A) @ wfEn
@) <€A
(C) TS HeA
(D) g wiE= 9

43
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O8Y is successfu] i ap 107. T g 'Wﬁ%@ﬁ?%ﬁﬁ?{
Organization ,nq fails  jn other T Heeyr Toe it & U v
Organization. A gocia scientist wil] Joo W 5 e 2 a2
for reason of
(A)  Inadequate technology, (A) s g

(B) Lack of Managemen; support (B)  aitry 5 PTTAT rgeing
© Organizationa; politics © Ty 5 ISTifer
(D) None of apoye (D) 3%y 4 s e

108. What is the main socja dire Consequence 194 Fiefar 5 e Hmﬁa;iwf%unq I

of Poverty ?

(A) Crime and Juvenile Delinquency (A) 3y g T 3y
() Beggary (B) Tty
©  Suicide ©  smemzey
(D) All of the abovye D) 7z g

109. Ty et qazpeny ¥ oty qEte
found engrayeq Ot MOt of the seals of 48 F-hy W] it fape e
Indus Valley Civilization, » €2
(A)  Elephant (A) weh
(B)  Tiger (B) ¥
(©) Unicorn ©) Ffamr
(D) Horse (D) iy
110. Which Mugal Emperor i also known » 110. %9 yrer g 1 Sy TR o
mgir ? ST ST § 2
(A)  Akbar (A)  aray
(B) Aurangzep, (B) sivmRg
(©) Bahadur Shap, oy ©) =@
(D) Humayyy, D) g
SPACE FOR ROUGH WORK / % mrf & fordr s
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111.

112.

113.

114.

Which of the fqllowing was 21-Gun
Salute State durirjg British Raj ?

(A) Hyderabad
(B) Jammu and Kashmir
(C) (A) and (B)|poth

(D) None of abppe

Who was the fir§t President of Indian
ess 1920 ?

Prasad

Trade Union Col
(A) Dr. Rajend
(B) Lala LajpatjRai
©) ilak
(D)

Lokmanya
Bipin Changira Pal

Which of the
composed by K

(A) Adi Gran
(B) Bijak
(C) Padavali
(D)

ollowing work was
ir 7

Sursagar

Which is the
posing difficy
Theory to be W

(A)

ost prominent factor
y in building a Social
ely applicable ?

Imprecisg nature of theoretical
concepts

111.

112.

113.

114.

firferm ot & e et 8 9 W01 21 T RO
T a?

(A) TEER

(B) < W FWR

(C) (A) T (B) T

(D) I A FE of T

T SR T I 1920 6 JUH AL
#H 92

(A) . Tl TEE

e aed 1

meﬂmmmmﬁm

g & wiawe # oA W e vy

HEH ¥

(A) Fgifas THeamell ® T8 wPia T
et

(B) Inadequagy of the tools to measure ®) fah= HeeaTatl % WY & fa o
the variggs concepts Al ERInnl
(C) Presencq of many unaccounted (C) 3raferR yATRfeTa wehl i Sufefd
factors
(D) None of{gbove (D) I § S T
SPACE FOR ROUGH WORK / T @ o fordt e
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. ich of the following Gree ruler 115, Frefafed 68 Tt gy % uy
Chandragupt, Maurya pag establishe TR o & aar%a,-a%fuwma o o7 7
Matrimonija] relation ?

(4)  Herodogys (A) ey
(B)  Selucag Nicator (B)  Togwy EE Tcd
(©  Mitrodogys © fredy
(D) Alexander (D) MEEEE
116. Ty, Social scientige May be differens mn 116 @ HSTTET 3 SR ﬁnlfﬁf’@aﬁ ¥ forg
their opinjon about the foIIoWing issues T W 37emy & flom &)
(A)  Globaj Terrorism (A) dfegs Hifishare
(B) Rescuing an  e¢

117 What jg the maj
instituﬁon 2

(A) A Common habitatiop,
(B) Marrjage relaﬁonship
(O Joint proper,

(D) Emotionaj basis

(D) I Tages YR
SPACE FOR ROUGH WORK 4
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118. Which of the folldwing philosopher

brought concept
sociology ?

(A)
(B)
(©)
(D)

Auguste Comfe
Immanuel Kaht
Ludwig Wi nstein

None of aboyg

-
15

119. What is the

indebtedness ?
(A)
(B)
©

main reason

Conventiond

Illiteracy
Extravagan
activities
(D) Allof the abpve

120.

of rationalism in

of

agricultural practices

expenses in social

All the teachers dff a school are on strike.

What will the pritjcipal of the school do?

(A)

Organize a
the strike qff teachers.
(B)
Senior and,
group on| ome topics of
subject.

(©)

Fonstructive debate on

Organize grpup activities involving
unior students in each

their

To ask the :%rudents to put a dharna

before adnfinistration in favour of

teachers.

To inspire
in supportfof teachers strike.

Ltudents to collect facts

118.

119.

120.

frefafioa ® 9 form Snifas g aarsrE
A qhare F HHead & T ?

(A) JTRE. R
(B) RIS HA
(©) eefam fageruers
(D) ST H FE T

FHURTE % W@ HR0 A A E?

(A) i I LT LI
(B) e
(C) e B ResereE

(D) s Ef

T 3 T SEAT weae W | e
Y w2

(A) Toeel & Tga@ W FEHCH ==l
SieiEneaall
t@@nﬁﬁﬁqﬁm&\ﬁﬂﬁﬁﬁﬂﬁ
mgqﬁaﬁmamﬁtﬁmmﬁm
oA fer s aen fama @ gt
Gl

mﬂﬁ@ﬁﬁw%waﬁmﬁ
¥ qa B g HL

(B)

(©

frenfefi @ fnerss ggarel & agd ThHiAd
F Bg ¥f@ w1

(D)

EPACE FOR ROUGH WORK / 1% w1 & o e
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1
121. Match the foHowing . 121, 'ﬁﬁﬁﬁ ﬁ?ﬂ'{ :
Article Provisions Nﬂiﬁ’; PIEDIE
(@) 14 () Abolition of (a) 14 (1) S 4y Sk
untouchabﬂity
(b) 15 (i) No discrimination o () 15 (i) o, ey S anfy %
grounds of Religjoy, TR T e w57 ey
Tace, Caste i,
(©) 16 (iii) Equality of Opportunity (©) 16 (i) T By 3 TG i}
in publje employment REIEG
d) 17 (tv) Equality before law (d) 17 (iv) fafy & e goray
@ ) (o (d) @) Ib) (g (d)
A) 6 @@ (i) (iv) A @ §) (i) (iv)
B @ @) @ (i) B) @) ) @ (i)
©  Gip) (tv) (i) © (i) (iv) (i)
D) @) @) (i) () @) (v (i) (i)
122. The Majka] fange is a part of Which of 19, T dof Fretafes % 3 fergamt s &5
the follo'/vmg ?
(A)  Vindhyan Range (A) o 4mf
(B) Satpura Range (B) gz g
(C) Dandakaranya Upland (©)  TvewHruy S
(D) Baghelkhang Upland (D) oemz SRy
123. Which of the following Jakes of India js 155 IRT A Frafarfighy el F -t Eycl
not a lagoon ? T E2
(A)  Vembanag (A) e
(B)  Pulicat (B) ez
(C©) Loktak (©) <rFes
(D) Chilka (D) fuem
= SPACE FOR RouG WORK / 1% =t % Torg il IS S
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124. In General Methoj: of Evaluation of
students in school
tested :
(A) Knowledge of qu
(B) Understanding
(C) Exceptional
relating to subj
(D) None of above

e following is not

125. Which of the folloWing pairs does not
match correctly ?

Oceanic Location
Trench
(A) Romanche - Central Pacific
(B) Swire 4| N.W. Pacific
(C) Sunda 4| East Indian
Ocean

(D) Challenger 4| North Pacific

126. Match the following :

Articles Provisions
(a) 368 (& High Court
(b) 214 (lil Attorney General
() 110 (if) Constitutional
Amendment
(d) 76 (if) Money Bill
@ b @ @

A) O @ @ )
(B) @) @) @ G
(© @) O @ @)
(D) (iv) (ui) (i)

124, v ¥ fernfe 3w gediea vafadl |
fretfefiaa w1 Heie e fahan S R

(A) fau= 1 3

(B) forra =t WA

(©) faom A deifem fernedf  sfafafore
Eilil

(D) S #§ g TE

125. Frefafed i § A - gafe @ €2

TRTERH frarfa

L)
(A) [WE - FEE TR IR
(B) TR - S W HEErR

(€) guel - e fEs HeErR

(D) FOR- 3. T HRIER

126. gifem HIfT
T qraeT
(a) 368 (i) == EEH
(b) 214 (i) —HEEEER]
(c) 110 (i) wifaefEs W
(d 76 (iv) wA fadas

@ () @ (@
(A) @) @) @ @)
B) @) G@v) @ G
© @) @ @ @)
(D) (v) () @ @

SHACE FOR ROUGH WORK / T% 4 o fotal s7
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55

127. What ig correct about the dismissal of 127, ’?ﬁ'qi * SUIe TS &
Vice President of Municipal Counei] ? Ty 3 St sy €2
(a) He may be dismisgeqd by No (a) FIE gry 9= fore
confidence motion,
(b)  Signature of 1/6 members of (b) E‘ﬁl‘q"ﬁﬁjﬁiﬁﬁ%ﬁq 1/6
council is essentia] in ghe resolution Bk oo e — g
to introduce the No confidence
mmotion,
(©)  Signature of 1/10 members of (©) srfapare gy T 7 & fog
council is essentia] in the resolution 1/1Q Fe=i =7 BHIER Siaygs gi
to introduce the No confidence
motion,
(@)  No confidence motion should pe (d) * BRT 2/3 g W sifaarg
accepted by the Counci] by 2/3 m1@§ﬁ BT wife
majority,
(¢)  No confidence motion should he () IR grr 374 TET ¥ afavarg
accepted by the Council by 3/4 RESIE] =i ?HTEH%E{I
majority.
®  No confidence motion should pe (f) N T e et et 3
Passed by more thap half of the T8 § by W%maﬂt?ﬂrﬁm
total elected members ang 2/3 TN T T Ay 2/3 =l & gy
majority of the members present WiE B I
and voting,
(4) (@) (@, @ (4) (), (o),
@) (o), () B) (), (e)
©) @, (), @ © (@) (@
D) @), @), ¢ (D) (a), (b
128. Normally when does the onset of the 128. A=y WP F ey "G (3wt x=q)
South-West Monsoon (rainy season) take T 3T T gy g?
Place in thig state ?
(A)  Between 15t jyne and 9t Jyne (A) ww H 57 % ey
(B)  Between 10th Jyne and 15% jyne (B) T@smq TRE 1 ¥ ey
(C)  Between 14th June and 22nd jyn0 (C) et 5 ooy 20 ST F Wy
(D)  Between 23rd June and 30t e (D) 5% 3 ge 30 S F 7y
SPACE FOR ROUGH WORK / T % R g e

Set - A




129. In which of the follg

Development Indicatogs this state has

shown
performance (according

(A)

(B)
©
D)

130.

What is correct about

above Natipnal average

to 2011 data) ?

Growth rate of Nt State Domestic

Product

Income Index
Educational Indey
Health Index

129. Freifafaa e fawm gl o & fred @
o Y Syeter T o ¥ et W@ R
(2011 ¥ 3HiH F IFFER) ?

(A)

(B)
(@)

(D)

5 T TE] 3G W Jlg W

I gAHH
Toren Saeish
ey gaAHh

130. TR UREE ¥ eAw ® T Y WA F

President of Municipal [Council ? fam A Fn g ?
(a) He may be recalldd from his office. (a) = 3T g § weEida R S Hehdl
7

(b) Theremoval proggss can be initiated (b) EsHfa w9y % 2/3 weed &
with the signaturp of 2/3 members FenaR & T fe S e ¥
of council.

() Theremoval progess can beinitiated (c) wewfa e ufEg ¥ 3/4 THi 6
with the signatufe of 3/4 members mmﬂmﬁﬁmmm%n
of council

(d) He can be regalled by simple (d ¢== eIt & WU FgHd |
majority of vote weratia e ST Hehd € |

(¢) He can be recallgd by 2/3 majority () T% TaEmasl % 2/3 FEHd Q geafad
of voters. fora <1 Fawa B

() He can be rpmoved by No- () T fEwEs T g T ¥ TR W
confidence motion. Hehal ¥

(A) (a), (b), (B (A) (a), (b), ()

(B) (a) (c) (®) (B) (a) (c) (e)

(© (®) (@), & (© (b). (@) (&)

D) @) (o) (d) D) (a). () (d)

SPACE FOR ROUGH WORK / 1% wE % g e
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132,

133,

(A) Jelep La - Niti - Shipkil, - Zojila
(B)  Zojila - Shipkila - Nitj - Jelep La
(©) Jelep La - hipiig, - Zojila - Niti

(D) Niti - Zojila - Jelep La - Shipkila

Which of the following is the renowned
folklore of this state ?

(A) Panda wani
(B)  Bharthari
(©) Dhola-mary

(D) Ghotul-pata

Which of the following are the basic
elements of the cultyre of this state ?

(A) Tribal traditions
(B) Agricultura] system
(©) Respect for nature

(D)  All of these

131. ﬁmiﬁmaﬁﬁvﬁmﬁ%

T

(A) éﬁww-ﬁﬁ-ﬁmﬁw-ﬁ’rﬁm
(B) Fﬁﬁﬁbn-ﬁmﬁm-ﬁﬁ-ﬁﬁvw
(©) ﬂaqaar-ﬁm‘?m-mﬁar-ﬁﬁ
(D) ﬁi‘amﬂmﬁﬁwmﬁwm

132, mmﬁvhmﬁtm‘mﬁ#

T T E2
(4) ear
(B) wud
(©) Zrenr-wrd
(D) iger-ury

133. Mg 57 g
T e 2

(A) eIy
(B) %M ooy
(©)  wFfa =1 gy
(D) 3R=w

R

Wﬁ%ﬁrﬁﬁ#@aﬁﬁﬁqﬁ

SPACE FOR ROUGH woRgk / T% & % fog D <
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134. How much of the total ghseous mass of

134, R (&) Hea § amEr & Fe e

the atmosphere does the troposphere Fera W faFaT S S & 2
contain ?
(A) 60 percent (A) 60 LIGEE
(B) 50 percent (B) 50 wfav@
(C) 90 percent (C) 90 wfewrd
(D) 75 percent (D) 75 Ffm
135. The Constitution of Inflia is Unitary, ~ 135. WiRd %1 FfauH THH €, Fif :
because :
(a) There is decentralisption of powers. (a) Wi o fadhwienTor i
(b) The Governor |pf states are (b) T % TeauE e fere i 21
appointed.
(c) The distribution offpowers is in the (c) Wil o fasTe %= % 9& 771
favour of centre.
(d) Constitution is en and rigid. @ wdfaum fafaa ot #3n 2l
(¢) Unequal represerjtption is given to (e) TeHl N THEH H STHM yfaffee
the states in Rajyp| Sabha. fean 7 B
(f) Prime Minister cgn be member of (f) v TeEE e A Tl
Rajya Sabha too. %l
(A) (a) (@ & (A) (a) (d) ()
® @®), @ () (B) (), (). (e)
© () (©) (€ (C) (b), () (e)
(D) (@) ®), O (D) (@), ®).
136. Project work given|fo the students  136. Forenfefaii ) feu e e I faewfed
develops in them : €
(A) leadership skills (A) AgE v
(B) creativity (B) Yo &HdI
(C) understanding oT basic concepts (C) T[E WeheaIel EaR:uE]
(D) all of above (D) SR gl
SPACE FOR ROUGH WORK / T &rd % fordl s1g
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137. Which of the following concept should be
introduced first in 4 classroom teaching
of social science ?

(A)
(B)
(©)
(D)

138,

Family
Commum‘ty
Poverty

Culture

The Constitution of India is written,

because :

()
(b)

(c)

(d)

(e)

)

(A)
(B)
(©

(D)

It is framed in a certain period.

Itis framed by a certain Constituent
assembly.

It is framed by an assembly headed
by Dr. B.R. Ambedkar.

Constitution Provides Fundamenta]
Rights to the Citizens,

It is come into force in a certain
date,

It establishes 4 democratic

government,
@), (o), ()
@), (b), (e)
(b), (d), (e)

0172/ EF-ST/ELG-E

137. mﬁmta}mﬁm%ﬁmﬁqm
BEIGE e e ?
(A) 9fEr
(B) wqem
(©) =i
(D) wepfa
138. 9RE &1 Hfaym feifier &, wiifes .
(a) 4% uw 4R &Y 7 e T 3
(b) I um TR=T WS4 5 gy Ay
TR
(c) zraa‘ia”rm.ﬂﬁgmﬁam&mﬁ
T F91 G| s e
(d) ﬁ%mwﬁaﬁﬁ%aﬁmm
HT R
(e) ﬂ‘a’ﬁﬁﬁaﬁﬁd‘aaﬁmﬁmﬂm
2l
(f) %Wﬁfﬁmmﬁmm%r
(A) (@), (), (6
(B) (a), (b), (¢)
(©) (®), (d), (e)
(D) (e}, (@), ()
Set- A




139. Which of the following festival of this ~ 139. 8 T &l ffefiaa # | HE ARR ﬁh
state is celebrated on thy] full-moon day T 1 ot S HAE S § ?
of Paush month ?
(A) Hareli (A) =l
(B) Hartalika (B) ®XeIfeTshl
(C) Chherchhera (€ JWU
(D) Halchhat (D) ®se
140. Which of the following igneous rocks ~ 140. foefefaa e Jgri 3 | o fafert
contain silica in excess of 65 percent ? =t W 65 Tfowa @ rfue B 82
(A) Basalt (A) TR
(B) Granite (B) TS
(C) Peridotite (C) UfRESkREe
(D) Gabbro (D) el
141, Which of the following tgions of Indiais ~ 141. ¥Rd@ % frefafaa weoi 8 @ HE-w ¥
known as a cold desert p T © ?
(A) Marusthali (A) TEEeE
(B) Tirunelveli regionfof Tamil Nadu (B) dferTg 1 freterel S
(C) Kachchha regior} (C) =3 Yeul
(D) Ladakh (D) wE™
142. Which of the followinp is the broadest 142, f=fered 3 § FA-T gad TSl STy
waterfall ? €7
(A) Jog Falls (A) S99
(B) Dudhsagar Falls (B) JHHEIR WA
(C) Shivasamudram Falls (C) TomesH wu
(D) Chitrakoot Falls (D) Tege qu
sPACE FOR ROUGH WORK / T% T & ford e
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143. Who of the following was the first author

144.

of the grammer of the dialect of this
state ?

(A) Lochan Prasad Pandey
(B) Hiralal KavyOpadhyay
(©) G.A. Grierson

(D) E.W. Menzel

Who of the following litterateys of this
state interpreted Marxian philosophy in
his writings ?

(A)  Padumlal Punnalal Bakshj
(B) Pt Lochan Prasad Pandey
(©) Gajanan Madhav Muktibodh

(D) Pt. Kedarnath Thakur

143. 0 T 3 5§

144. 39 T59 ¥ fafidn

v
:
3
i

Frefafes % 4 i 92

ﬁ@ﬁmwf%amﬁ
aﬁﬁmﬁwwmﬁmaﬁ%?

(A) g Yafoner et
(B) d. wirayar |y
(©) T Ao [ frrivey
(D) 4. *erre gy

145. Where is the fourth sugar milj was 145, ﬂ?}ﬁa‘raﬂ?@ﬁ TATYT T 1 7 2

setup ?

(A) Bemetara (A) =@aq

(B) Darbha (B) =

(©)  Pandariya (C) vefwr

(D) None of above (D) 39 ¥ #r Af

SPACE FOR ROUGH wWoRKk / & &1 & foy ERIES
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Hﬁ&l%@ﬁﬂﬁf@ﬂﬁ@ﬁﬂmaﬂ%?

146. To which of the follow]ng types does the  146.
Narmada delta belong|?
(A) Arcuate (A) USRI
(B) Bird - foot (B) - ST
(C) Estuarine (C) oI @t
(D) Truncated (D) ®fvsd
147. A teacher asks studemts to find out the 147, SIEAYE A BEI | TTA HHEI & A
causes of fall of |Mugal Empire. ST g1 Bl H e iR o e
The students have tq jundergo a process AT BN 2
of :
(A) Synthesis (A) Heawm
(B) Analysis (B) fazerm
(C) Induction (€ W
(D) None of above (D) ST H HE Tl
148. In the context of Judifial Review what is 148. NI Eﬁiﬁﬁiﬁﬂ F ded § wat= FEed
a duty of Supreme Cpurt : &1 hded 18?2
(A) To protect the|Supremacy of the (A) EfeH Y Tl Bl T
Constitution
(B) To protect tth Supremacy of the (B) §ug ! Ta=adl i L& HA
Parliament
(C) To protect the fundamental Rights (C) Tifers Sifuehrll Rl & T
(D) To establish the Supremacy of the (D) ~fae Hellesdl shi Tl HTl
Judiciary
SPAICE FOR ROUGH WORK / T wTd % fordl sme
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149. In a federal system why a Judiciary is
essential ?

(a)
(b)
(<)

(d)
(e)

(f)

(A)
(B)
(©)
(D)

150.

To enterprete the Constitution
To protect the Fundamental Rights

To protect the Supremacy of the
Constitution

To protect Democratic system

To settle disputes between centre
and states

To protect parliamentary system
(@), (b), (d)
@), (). (e)
(b), (d), ()
(b), (c). (£)

Which of the following arrangements of

steel plants from east to west is correct ?

(4)

(B)

(©

(D)

Rourkela - Jamshedpur - Burnpur -
Durgapur

Burnpur - Durgapur - Jamshedpur
- Rourkela

Durgapur - Burnpur - Jamshedpur
- Rourkela

Durgapur - Jamshedpur - Burnpur
- Rourkela

-000-

149, TH Gy Hawy|

2?2
(a)
(b)

(d)
()

(®)

(A)
(B)
(©)
(D)

150.

(A)

TG EES FT
aai § |

wfaum
e siferwmg]

et STavas F=

wren 3 # fau

! &7 F F fo

Giay™ St

Al s T8l %A % fag

PEIGIECE

he

ST T & 4 F o

w2 AR Y F A faarEl w5 T

FH F
B
(@), (b), (
(@), (c). ()
(b). (d), (f)
(®), (9), (O

UITEE -

w1 & A F fo

® gfyem frfafag
THEE?

- T - g

SPACE FOR ROUGH WORK / T% T8 & fordt e
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SET - A

I 3ifera T T EGY : 230 €S

Time for marking an$

wers : 2.30 Hours }

T AR B

- e o wE e e
- &=

L (a) oy

(B) wHIfSes 1234

A ;

1. 39 -y ||
(1) "EH 4T
() fedra wm
(3) A um
(4) g wm
(A)TE (B) U E |

2. U & I,

3. foddt ot a@ & &

s fawa @ =R e T

{

1-30
31-60
61-90
91-150

91-150

OMR IW-9E (AR M) R Afea wifaa)
1 w1 el ue Wisige $iF 1 Jan aferd § |
4. OMR So-9iz (Figz 3fe) = wbm w0 g T 2 a7 %0/, a8 98 v Sl =@

3gH Tirg 71 faeed o1 Tg Wi 99 herasy 98 T 8 S |

Note :

1. This Questions Bpoklet contains Parts :

(1) First Part - Child Development and Pedagogy
(2) Second Pagt - Hindi

"(3) Third Parl - English
(4) Fourth Parf

- (A) Mathematics/Science

(B) Social Science

Choose ANY GIE subject from (A) & (B)
wers on the OMR Answer-Sheet provided.

2.  Indicate your af

3.  Use of any type

torn or spoiled

e to folds and wrinkles.

freraw afe : 150

Maximum Marks : 150

1-30

31-60
61-90
91-150
91-150

hf calculator or log table and mobile phone is prohibited.

4.  While using ONI: Answer-Sheet care should be taken so that the Answer-Sheet does not get

Set - A
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